

04210507

Letting:

Florida Department of Transportation

05/07/2021

Page 1 of 1

Vendor Ranking

Call Order: 010 Contract: E4V16

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 730 CALENDAR DAYS

Project(s): 44100747201 (*)

Contract Desc: TREASURE COAST MULTI-POST SIGN REPAIR - ROUTINE MAINTENANCE

May 07, 2021 10:30 AM

| Ran | k Vendor | Bid Type Bid Status | Total Bid | Percent Of Low Bid |
|-----|----------------------------|----------------------------|--------------|-----------------------|
| 1 | FLORIDA ROADWAY SIGNS, INC | Responsive Winning bid | \$96,778.20 | 100.00% |
| 2 | WRANGLER CONSTRUCTION INC. | Responsive Non-Winning Bid | \$105,596.72 | 109.11% |
| 3 | AIRBOAT ADDICTS, INC. | Responsive Non-Winning Bid | \$138,584.72 | 143.20% |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 06/01/21 BEGIN TIME: 10:30 AM END DATE: 06/04/21 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the budget amount of \$75,000.00 and not the contractors bid. There is no guarantee of minimum or maximum amount to be issued under this contract.





Tabulation of Bids

Page 1 of 6

 Letting:
 04210507
 May 07, 2021
 Call Order:
 010
 Contract:
 E4V16

 District:
 District 4
 Counties:
 DIST/ST-WIDE
 Fed Aid No:
 N/A

Contract Time: 730 CALENDAR DAYS

Project(s): 44100747201 (*)

Contract Descr: TREASURE COAST MULTI-POST SIGN REPAIR - ROUTINE MAINTENANCE

The work under this Contract consists of labor, equipment, materials and incidentals necessary to relocate, furnish, install, repair, and remove signs along the State Roadways in St Lucie. Martin, and Indian River Counties.

BUSINESS DEVELOPMENT INITIATIVE (BDI) CONTRACT: Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm. For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdi-projects.html

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department.

The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on the maximum limited budgeted amount of \$75,000.00 and not the contractor s bid total. There is no guarantee of minimum or maximum amount to be issued under this contract.

PERFORMANCE BOND: A Contract / Performance bond is NOT required for this project.

PROPOSAL BID GUARANTEE: On proposals over \$150,000, a Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier s Check, made payable to the Florida Department of Transportation, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

Funds approval for Fiscal Year 2022 is contingent upon Annual Legislative Appropriation

| Line No / Item ID Alternate Item Description | Quantity Units | (1) FLORIDA ROADWAY SIGNS, INC | | (2) WRANGLER CONSTRUCTION INC. | | (3) AIRBOAT ADDICTS, INC. | |
|--|-------------------|-----------------------------------|------------|-----------------------------------|------------|---------------------------|------------|
| () indicates item is bid as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |





Tabulation of Bids

Page 2 of 6

| Letting | g : 0- | 4210507 | May 07, 2021 | Ca | II Order: 010 | | Contract: | E4V16 | |
|----------------|--|----------------|----------------|----------------------|---------------|---------------------|------------|-------------|---------------|
| | No / Item ID Description | Alternate | Quantity Units | (1) FLORIDA SIGNS | | (2) WRA CONSTRUC | | (3) AIRBOAT | ADDICTS, INC. |
| | - | id as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| | SECTION: | 0001 | (SIGNS(GRND | SIGNS 30 SQ FT | OR LESS)(UN | | | | |
| | 0700 1 11 POST SIGN, UP TO 12 SI | F&I GROUND | 3.000 AS | 650.00000 | 1,950.00 | 410.00000 | 1,230.00 | 900.00000 | 2,700.00 |
| | 0700 1 12 POST SIGN, , 12-20 SF | F&I GROUND | 1.000 AS | 1,400.00000 | 1,400.00 | 1,100.00000 | 1,100.00 | 1,200.00000 | 1,200.00 |
| | 0700 1 13 POST SIGN, 7, 21-30 SF | F&I GROUND | 1.000 AS | 1,450.00000 | 1,450.00 | 1,549.00000 | 1,549.00 | 1,500.00000 | 1,500.00 |
| 0020 SINGLE | 0700 1 40 POST SIGN, | INSTALL | 4.000 AS | 500.00000 | 2,000.00 | 1,400.00000 | 5,600.00 | 900.00000 | 3,600.00 |
| 0025 SINGLE | 0700 1 50 POST SIGN, | RELOCATE | 10.000 AS | 300.00000 | 3,000.00 | 206.00000 | 2,060.00 | 900.00000 | 9,000.00 |
| 0030 SINGLE | 0700 1 60 POST SIGN, | REMOVE | 7.000 AS | 100.00000 | 700.00 | 125.00000 | 875.00 | 900.00000 | 6,300.00 |
| | 0700 2 13 POST SIGN, I 7, 21-30 SF | F&I GROUND | 3.000 AS | 4,000.00000 | 12,000.00 | 4,875.00000 | 14,625.00 | 2,000.00000 | 6,000.00 |
| | 0700 2 14 POST SIGN, I 7, 31-50 SF | F&I GROUND | 2.000 AS | 5,500.00000 | 11,000.00 | 5,250.00000 | 10,500.00 | 2,500.00000 | 5,000.00 |
| | 0700 2 15 POST SIGN, I , 51-100 SF | F&I GROUND | 1.000 AS | 6,800.00000 | 6,800.00 | 7,100.00000 | 7,100.00 | 3,000.00000 | 3,000.00 |



Page 3 of 6

Florida Department of Transportation



Tabulation of Bids

| Letting: 04 | 4210507 Ma | ay 07, 2021 | Cal | l Order: 010 | | Contract: | E4V16 | |
|--|---------------|-------------------|----------------------|--------------|---------------------|------------|-------------|---------------|
| Line No / Item ID Item Description | Alternate | Quantity Units | (1) FLORIDA SIGNS | | (2) WRA CONSTRUC | | (3) AIRBOAT | ADDICTS, INC. |
| () indicates item is bi | d as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: | 0001 (5 | SIGNS(GRND | SIGNS 30 SQ FT | OR LESS)(UN | | | | |
| 0050 0700 2 50 MULTI- POST SIGN, (RELOCATE | GROUND MOUNT | 3.000 F, AS | 3,500.00000 | 10,500.00 | 3,800.00000 | 11,400.00 | 2,500.00000 | 7,500.00 |
| 0055 0700 2 60 MULTI- POST SIGN, F | REMOVE | 10.000 AS | 300.00000 | 3,000.00 | 687.00000 | 6,870.00 | 1,600.00000 | 16,000.00 |
| 0060 0700 3101 SIGN PANEL, FURNIS GROUND MOUNT, UI | | 10.000 EA | 300.00000 | 3,000.00 | 244.00000 | 2,440.00 | 900.00000 | 9,000.00 |
| 0065 0700 3102 SIGN PANEL, FURNIS GROUND MOUNT, 12 | | 2.000 EA | 500.00000 | 1,000.00 | 437.00000 | 874.00 | 1,400.00000 | 2,800.00 |
| 0070 0700 3103 SIGN PANEL, FURNIS GROUND MOUNT, 21 | | 2.000 EA | 900.00000 | 1,800.00 | 725.00000 | 1,450.00 | 1,600.00000 | 3,200.00 |
| 0075 0700 3104 SIGN PANEL, FURNIS GROUND MOUNT, 31 | | 2.000 EA | 1,050.00000 | 2,100.00 | 1,400.00000 | 2,800.00 | 1,800.00000 | 3,600.00 |
| 0080 0700 3105 SIGN PANEL, FURNIS GROUND MOUNT, 51 | | 1.000 EA | 2,000.00000 | 2,000.00 | 1,865.00000 | 1,865.00 | 2,000.00000 | 2,000.00 |
| 0085 0700 3201 SIGN PANEL, FURNIS OVERHEAD MOUNT, | | 16.000 EA | 900.00000 | 14,400.00 | 576.00000 | 9,216.00 | 925.00000 | 14,800.00 |
| 0090 0700 3202 SIGN PANEL, FURNIS OVERHEAD MOUNT, | | 10.000 EA | 1,300.00000 | 13,000.00 | 940.00000 | 9,400.00 | 950.00000 | 9,500.00 |





Tabulation of Bids

Page 4 of 6

| Letting | g: 04 | 1210507 | May 07, 2021 | Ca | II Order: 010 | | Contract: | E4V16 | |
|-----------------|---------------------------|-----------------|---------------------|----------------------|---------------|---------------------|------------|-------------|---------------|
| | No / Item ID Description | Alternate | e Quantity Units | (1) FLORIDA SIGNS | | (2) WRA CONSTRUC | | (3) AIRBOAT | ADDICTS, INC. |
| () ind | licates item is bi | d as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| | SECTION: | 0001 | (SIGNS(GRND | SIGNS 30 SQ FT | OR LESS)(UN | | | | |
| 0095 SIGN PA | 0700 3401 ANEL, INSTAL | .L, UP TO 12 S | 2.000 SF EA | 250.00000 | 500.00 | 137.00000 | 274.00 | 660.00000 | 1,320.00 |
| 0100 SIGN PA | 0700 3402 ANEL, INSTAL | L, 12-20 SF | 2.000 EA | 300.00000 | 600.00 | 340.00000 | 680.00 | 660.00000 | 1,320.00 |
| 0105 SIGN PA | 0700 3403 ANEL, INSTAL | L, 21-30 SF | 2.000 EA | 300.00000 | 600.00 | 425.00000 | 850.00 | 860.00000 | 1,720.00 |
| 0110 SIGN PA | 0700 3404 ANEL, INSTAL | L, 31-50 SF | 2.000 EA | 300.00000 | 600.00 | 687.00000 | 1,374.00 | 960.00000 | 1,920.00 |
| 0115 SIGN PA | 0700 3405 ANEL, INSTAL | L, 51-100 SF | 1.000 EA | 500.00000 | 500.00 | 1,250.00000 | 1,250.00 | 1,060.00000 | 1,060.00 |
| 0120 SIGN PA | 0700 3601 ANEL, REMOV | /E, UP TO 12 \$ | 10.000 SF EA | 25.00000 | 250.00 | 225.00000 | 2,250.00 | 460.00000 | 4,600.00 |
| 0125 SIGN PA | 0700 3602 ANEL, REMOV | /E, 12-20 SF | 4.000 EA | 25.00000 | 100.00 | 350.00000 | 1,400.00 | 460.00000 | 1,840.00 |
| 0130 SIGN PA | 0700 3603 ANEL, REMOV | /E, 21-30 SF | 4.000 EA | 25.00000 | 100.00 | 380.00000 | 1,520.00 | 560.00000 | 2,240.00 |
| 0135 SIGN PA | 0700 3604 ANEL, REMOV | /E, 31-50 SF | 5.000 EA | 25.00000 | 125.00 | 440.00000 | 2,200.00 | 660.00000 | 3,300.00 |





Tabulation of Bids

Page 5 of 6

| Lettin | g : 04210507 | May 07, 2021 | Cal | II Order: 010 | | Contract: | E4V16 | |
|----------------|---|--------------------|----------------------|---------------|---------------------|--------------|-------------|---------------|
| | e No / Item ID Alterna | ate Quantity Units | (1) FLORIDA SIGNS | | (2) WRA CONSTRUC | | (3) AIRBOAT | ADDICTS, INC. |
| | dicates item is bid as Lump Sur | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| | SECTION: 0001 | (SIGNS(GRND | SIGNS 30 SQ FT | OR LESS)(UN | | | | |
| 0140 SIGN P | 0700 3605 ANEL, REMOVE, 51-100 SI | 1.000 F EA | 250.00000 | 250.00 | 150.00000 | 150.00 | 760.00000 | 760.00 |
| 0145 SIGN P | E700 30 1 ANEL OVERLAY, SINGLE I | 11.532 POST SF | 100.00000 | 1,153.20 | 163.00000 | 1,879.72 | 460.00000 | 5,304.72 |
| 0150 SIGN P | E700 30 2 ANEL OVERLAY, MULTI PO | 4.000 OST SF | 150.00000 | 600.00 | 163.00000 | 652.00 | 1,000.00000 | 4,000.00 |
| 0155 SIGN P | E700 30 3 ANEL OVERLAY, OVERHE | 1.000 AD SF | 300.00000 | 300.00 | 163.00000 | 163.00 | 2,500.00000 | 2,500.00 |
| 000 | 1 SIGNS(GRND SIGNS 30 SQ FT OR LESS)(UN) | Section Totals: | l | \$96,778.20 | | \$105,596.72 | | \$138,584.72 |
| | Contract (| Grand Totals: | | \$96,778.20 | | \$105,596.72 | | 138,584.72 |



05/07/2021

Tabulation of Bids

Page 6 of 6

Letting: 04210507 May 07, 2021

Call Order: 010

Contract:

E4V16

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.